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Chapter 21 Review
Solve each proportion. _ :
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9. A free casts 2 26-ft shadow. A boy standing nearby casts a 12-ft shadow,
forming similar triangles. His height is 4.5 ft. How tallis the tres?
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Telk Wheﬁle'.r%;al‘.h percent af change is an increase or decrease. Then find the percent of
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For problerfis T4 and 1 f;‘LDeclare g variable, wrie an equaﬁ'on, then .soive. .

414 Ao online music chab sells compétt discs for $13.95 sach plus $1.95 shipping ‘
"ib/ and handling per oxder. If Maria’s total bill was $85.65, how many compact

disos diéMarlnprchaso? 5 a5, M 95 = 65,65 —
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B Wou are Trying to choose between fwWo gy optiong, For a monthly Pplan, Planet FREess bas o feo of $15
-phs also costs $2.50 every time you go. Bay Qrate TV Tee is $30 bt s oply §1 every time that you go.
Afwhat potnt do the 2 gym’s cost the same arpount of mouey? Which option would you choose based upon
your persopal preference? ) <. 45 i
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16. The scale of aoap is 3 cm : 50 mL Determine the distance between two cities
that are 4.2 om apart on the map.
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17. The sum of 4 consecutive integers is 78. What atc the 4 mtegers?
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18. The snm of 4___00:155@1&‘»’3 odd integexs is 24. What are the 4 integers?
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19. There are 20 squid and 36 eefs § sl Mhatis fhe ratio of squid fo eels? What is the rate of
id fo eels? 4710 [ e
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20. Writa a proportion to solve this problerm. . ;
When planning for their wedding reception Joey and Sarah were told that Riverside Gallery would chaige
...§550.50 use their function. room for the 80 guests they planned.on invifing, They have since changed thelr -

1 should T “pay for the Juticaon gom? L o
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21. Sally bought 30 of the same present For her FEnE 6 give away at her birthday party, She Initially
purchased 18 online for a cost of $42. She ihen realized she needed more 58 she drove to the store and
purchased 12 more of the sarme fem for $20. Which place offered the betfer deal? Show the worlk fhat
fustifies your znswer, '
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22 Solve for R | ' 23, Solve fory __ 24 Solve for x
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25. You wert sipposedy
mistakenly marked the price as $2.46. What was the percent error {relative exror) in your prices?
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27. You are trying t© save:—ulp to buy the new iPhone & which Is supposed o come oot 13"}53@}. from now. You put
$300 info A savings accoust that yields 3.6% ennvalty. If the phone is going to coast $345 will you have enough money

"t buy it?
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28. 15% of 23 is what #7 29. 18 is what % of 407
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33, A player's betting average is the number of hits divided by ke nomber of 2 bats, If Jonny has a batting average of
329 and has 150 hits then how many times has she been at bat? Deolare a variable, write an equation, and solve.
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33.Joey thinks that A FGH ~ A MNO, Prove whether he is correct or not.
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